—_RCl OFFROAD_Xx~\

Disclaimer:

The products sold by RCI Metalworks are intended for off-road use only, should not be modified, and are
for use only on the vehicle(s) specifically stated. RCl Metalworks makes no warranties express or implied,
including of fitness for a particular purpose or merchantability. RCl Metalworks will not be liable for any
damages arising out of the use or misuse of its products. It is the customers' responsibility to ensure the
products are safely and properly attached to the vehicle, and all products should be installed by trained
professionals. We strive to maintain extremely high-quality standards; however, all RCl Metalworks
products are individually handcrafted, may vary slightly, and may contain minor imperfections. Due to the
nature of raw aluminum, the material may have minor scratches and other blemishes caused by the
manufacturing process, especially on the back side of the product. RCI Metalworks is constantly seeking
to improve its products and reserves the right to make changes to any product.

Installation of an RCI bumper requires removal of factory-installed components such as crash bars and
foam impact absorbers. These components are designed for vehicle safety and impact absorption, and
their removal may negatively impact occupant protection in a crash. RCI is not responsible for the removal
of these components, and the owner/installer assumes all risks associated with their removal and any
resulting consequences. It is the owner/installer's sole responsibility to understand the implications of
removing these components before proceeding with installation. The installation of this RCI bumper,
improper installation of this RCI bumper, and use or misuse of this RCI bumper with other components or
failure to use it in conjunction with other components, could result in or cause serious personal injury,
property damage or death.

RCI bumpers are not crash-tested and are intended for off-road use only. Vehicle owners are responsible
for testing and recalibrating any affected sensors after bumper installation. While RCI may conduct
preliminary sensor functionality checks during product development, this does not constitute testing to
Original Equipment Manufacturer (OEM) specifications. RCI is not responsible and does not accept
liability, for breakage or failure of parts as a result of rugged off-road use or reckless and/or improper
installation. Modifications to your vehicle are done at your own risk and RCI does not accept liability or
responsibility arising from damage caused by installing parts or doing modifications.

RCI performs off-road testing on its bumpers, including winch pulls, static and dynamic recovery pulls, and
general off-road use. However, RCI is not liable for any damages arising from the use or misuse of its
products. Customers are responsible for ensuring products are safely and properly attached to their
vehicle, and professional installation is strongly recommended. After installing any off-road product,
customers should test and recalibrate all safety sensors to ensure proper functionality. Do not rely on any
safety sensor functionality until this verification is complete.

RCI Offroad bumpers with receiver hitches are not load rated. Using a receiver hitch for towing or other
heavy-duty tasks is not recommended unless explicitly stated by the manufacturer. The bumper and
receiver hitch are intended for off-road recovery use and not designed for sustained towing or
load-bearing applications. Any misuse, such as towing or overloading, may result in bumper failure,
vehicle damage, or personal injury. RCl is not responsible for any damages or injuries resulting from the
use of the bumper with a receiver hitch beyond its intended purpose.

If an RCI product is purchased by a third party, such as a dealer, wholesaler, or installer, it is the third
party’s responsibility to inform the end customer of this disclaimer.



=_RCl OFF ROAD_X .
RCI 14-23 Toyota 4Runner Pike Bumper Install Guide

ITEM PART
NO. NUMBER DESCRIPTION QTY.
14-23
1 4runner Insert| RCI Component 1
Bumper
T4R Insert
Bumper
2 Mounting RCI Component 2
Bracket
T4R Insert
3 Bumper Trim | RCI Component 2
Bracket
M12 x 25mm
% 1.25
4 Flanged Hex Hardware 2
Bolt
5 1/2" Washer Hardware 2
3/Bx1.5"
é Carriage Bolt Hardware 4
3/8"x11/8"
7 Hex Bolt Hardware 4
a8 3/8 Washer Hardware 12
3/8 Split
9 Washer Hardware 8
10 3/8 Hex Nut Hardware 8
UMLESS OTHERWISE SFECFED: MAME
DRAWN oM
SOURCE Hilech

PROPRIETARY AND CONFIDENTIAL
THE IMFORRMAT TOMTAIMED I THE

E FROPERTY OF

Export Date
9/6/2023

TITLE:

RCI OFFROAD

14-23 4Runner Pike Bumper

lfem Numker

BOM

DO HOT SCALE DRAWNG

Install Guide

REY
]

SHEET 1 CF 1

Sku

SCALE: 1:12 WEIGHT:

]




_RCl OFFROAD_X~
INSTALLATION STEPS:

**Use hand tools, impact wrenches may cause damage if over torqued.**

1) Begin by unpacking and removing all components and hardware. Please verify that all
hardware and mounting components are present. Reference your original order invoice and
verify all items are accounted for.

2) Open the hood of the vehicle and disconnect the negative terminal on the battery before
proceeding.

3) Remove the factory plastic support cover by removing the 13 plastic clips holding it in place.

a. Set aside plastic cover once removed.

Remove
and save all
clips.

Figure 1: Clips and trim to be removed.



—_RCl OFFROAD_Xx~\

4) Remove the three (3) M10 bolts as depicted below and disconnect the ACC sensor.

Remove
three M10
bolts.
Disconnect
ACC sensor.

Figure 2 M10 bolts to remove and harness to disconnect.

5) Remove the 6 trim clips securing the bumper to the front crossmember.



—_RCl OFFROAD_Xx~\

Remowve clips
securing the grill
to the
crossmember.

Figure 3: Clips securing grill to crossmember.

6) Remove all trim screws inside the vehicles front wheel well and under the bumper. Save all OEM hardware until
the installation is complete.
There will be 5 screws to remove on the passenger side and 6 on the driver side.



—_RCl OFFROAD_Xx~\

Remove all
trim
SCrews.
7) Remove the OEM air dam or any filler plates that are connected to the lower side of the
bumper.
8) Disconnect the fog lights by unplugging the large connector located behind the driver side fog
light.
Disconnect
fog lights.

Figure 4: Fog light connector.



—_RCl OFFROAD_Xx~\

9) After the clips and screws are removed from the bumper, the ACC is un plugged and fog lights
are disconnected, the bumper can be removed.

10) The bumper should now only be held on by clips. To disconnect the clips, start from the wheel
well and pull on the wing of the bumper until it separates from the vehicle. With the side
disconnected work around to the front of the vehicle gently pulling on the plastic bumper to

release all the clips. Repeat this on the opposite side of the vehicle to safely remove all the
clips.

Figure 5: Start bumper removal from bumper corners.

11) Set the OEM plastic bumper aside once removed from the vehicle.

12) Next take off the OEM crash bar by removing the eight (8) 14mm bolts holding it in place.

a. Save the OEM 14mm bolts to install the RCI bumper later.



—_RCl OFFROAD_Xx~\

Remove the four
(4) 14mm bolts
per side.

Figure 6:0EM crash guard to remove.

13) The radiator plastic air deflectors need to be trimmed for proper fitment of the RCI Bumper.
a. Copy the outline of where to cut as shown below.

b. Use a utility knife, angle grinder, Dremel or something similar to remove the lower
section of the air deflectors.

c. Be careful not to cut any wiring or hoses during this step.

Driver Side Passenger Side



—_RCl OFFROAD_Xx~\

14) When installing a winch, the factory power steering line needs to be adjusted to avoid contact.

15) Loosen the 10mm bolt securing the power steering line on each side of the vehicle. Once
loose rotate the up as much as possible before retightening. If a bigger winch is being installed
RCI recommends using a zip tie to secure the power steering line to the vertical radiator
support. Reference the figure below.

Loosen 10mm
bolt on each side
of the vehicle.

Zip tie if extra
room is needed.

Figure 7: Power steering line relocation

16) Collect the OEM plastic bumper that was fully removed in Step 10.
a. For TRD Offroad and TRD Pro models, remove the bumper valence by disconnecting
the clips on the back side.
b. Pull off the wiring harness that is adhered to the back side of the bumper.



—_RCl OFFROAD_Xx~\

Pull off wiring
harness and
tuck away.

Remove clips
holding valence
in place.

Figure 8: Valence and wiring needs to be removed.

17) Flip the bumper back over and mask/tape off the areas that need to be cut.
a. From the lower part of the grill measure down 1 %2” and mark along the bumper
b. From the corners measure 2"and mark a line
c. Connect the lines to the recess on the side of the bumper and follow it all the way down.

Measure down
1 %" and mark
cut line across
the length of
the bumper.

Figure 9:Cut line location.



—_RCl OFFROAD_Xx~\

Figure 10:Corner cut line location

Follow the
inner radius of
the recess with

a cut line.

Figure 11:Cut line location.

18) Once the cut line is drawn on the bumper, use a cutoff wheel, Dremel, or something similar to
cut out the center section.
a. Use afile, sandpaper, or a flap disk to clean up the edge of the bumper for a clean
finish.
b. If desired, install black edge trim over the cut edge of the bumper. Reference below.



—_RCl OFFROAD_Xx~\

Figure 12:Finished cut with trim installed.

19) At this time, install any accessories (Light Bar, Winch, Fairlead, etc.) into the bumper
before continuing with the installation process.

20) Reinstall the OEM bumper onto the vehicle by following the installation steps in reverse.

Figure 13: Vehicle with cut bumper reinstalled



—_RCl OFFROAD_Xx~\

21) Collect the RCI Bumper along with the remaining 14mm OEM mounting bolts that were
removed in Step 12.

22) To help with install, collect two (2) of the OEM 14mm bolts. Thread one of these per side from
the back of the frame to hang the RCI Bumper in place while threading in the remaining 14mm
bolts.

Figure 14: Reverse installed 14mm bolt

23) Lift the RCI Bumper into place by hanging the lowest mounting hole on the 14mm bolt.

24) Hold the bumper in place and begin to loosely install the remaining 14mm bolts securing it to
the vehicle frame.

25) Once all 8 14mm bolts are loosely installed, adjust the bumper to liking and fully tighten all
mounting bolts.



—_RCl OFFROAD_Xx~\

Mounting holes
for OEM mount
locations.

Figure 15: Bumper mounting locations

Figure 16: Correct installation of 14mm bolts.

26) Collect two (2) of the T4R Insert Mounting Brackets, four (4) 3/8” x 1 2" carriage bolts, two (2)
M12 x 25mm hex bolts, two (2) 2" washers, four (4) 3/8” washers, four (4) 3/8” split washers,
and four (4) 3/8” hex nuts.

27) Install the brackets on the inside of the bumper lining up the two rectangle holes with the two
rectangle holes on the bumper. The slotted part of the bracket will line up with a threaded hole



—_RCl OFFROAD_Xx~\

on the side of the vehicle frame. This threaded hole will be behind a black sticker that needs to
be removed before installing the bracket. Reference the figure below.

3/8"
Washer.
T4R Insert
Mounting
Bracket.
3/8" — T W
Washer. Washer
3/8" Split — P
‘Washer. M12 Hex
Bolt.
3/8" Hex /
Nut. 5’

Figure 17: Hardware depiction



—_RCl OFFROAD_Xx~\

Figure 18: Correct installation of Support Bracket

28) Next collect the two (2) T4R Insert Bumper Trim Brackets. The bracket with the “D” mounts on
the driver side and the bracket with the “P” mounts on the passenger side.
a. Collect four (4) 3/8” x 1 1/8” hex bolts, eight (8) 3/8” washers, four (4) 3/8” split washers,
and four (4) 3/8” hex nuts.

29) Install the trim brackets on the inside of the bumper connecting to the holes on the plastic
OEM bumper. Install brackets on both sides of the vehicle as depicted below.



—_RCl OFFROAD_Xx~\

Driver Side
Support Bracket.

3/8” Split
Washer.

3/8"
Washer.

3/8"

3/8" Hex Washer.

Bolt. -

Figure 19: Hardware depiction



—_RCl OFFROAD_Xx~\

Figure 20: Correct installation of Support Bracket

30) Complete the installation by ensuring all mounting hardware is snugged down and
remember to reconnect the ACC sensor and the fog lights. Use zip ties to secure any loose
wiring and connections.



—_RCl OFFROAD_Xx~\

Enjoy your new RCI protection!

Share your new install with us on social media!

www.rcimetalworks.com

We love seeing our products out in the wild!
sales@rcioffroad.com
970-797-3089

REV: 1] 9/29/2022 n ]

L B i L e e e R e N o eporeligar=ialigtagtassesiere-otesiasspieniot- iotoutestestpestinlosstouhontssfiulaptostesplastesies alompeston ontttos P w e e e o e e B =D g e By o ey
B e e L R Y i R e I e e e L i e Ly e Y P L R L e e e B e ey

B Sy S e e el e T ] B il e St O S et T B e e e e g e g e e D e e e e Gl e g o B e B B
N . = kel = e e e La b B e e o

o 1 1 T L e L T LT T P ey
Lo S o b R e e Ca e b D T R e T, S R Ll o e e e e O e e L L e E s

Fradects and reeerre s b rigeha e reskas s sgpes oo saree Ees-deec s

AP FPER LI E 558


mailto:sales@rcioffroad.com

—_RCl OFFROAD_Xx~\



